
Answer on the Question #65772, Chemistry / General chemistry 

Calculate the molarity of 20% of nacl if density = 1.127 kg/liter 

Solution: 

Molarity is the number of component’s moles in volume of solution. 

𝑐(𝑁𝑎𝐶𝑙) =
𝑛(𝑁𝑎𝐶𝑙)

𝑉𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛

Assume that the volume of the solution studied is 1L. Mass of solution: 

𝑚𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛 = 𝑉𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛 ∙ 𝑑 = 1𝐿 ∙ 1.127
𝑘𝑔

𝐿
= 1.127 𝑘𝑔 

The mass of the NaCl is: 

𝑚(𝑁𝑎𝐶𝑙) = 𝑚𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛 ∙ 0.2 = 0.225 𝑘𝑔 = 225 𝑔 

The mol number of the NaCl: 

𝑛(𝑁𝑎𝐶𝑙) =
𝑚(𝑁𝑎𝐶𝑙)

𝑀(𝑁𝑎𝐶𝑙)
=

225𝑔

58.5 𝑔/𝑚𝑜𝑙
= 3.85 𝑚𝑜𝑙 

Molarity of the NaCl in solution with volume of 1 liter is: 

𝑐(𝑁𝑎𝐶𝑙) =
𝑛(𝑁𝑎𝐶𝑙)

𝑉𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛
=

3.85 𝑚𝑜𝑙

1 𝐿
= 3.85

𝑚𝑜𝑙

𝐿
= 3.85𝑀 

Answer: molarity of the NaCl 20% with density of 1.127 kg/L equal to 3.85M. 
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